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and ensure that:

- Serial number of Question
Booklet(QB) and OMR
Answer Sheet is same.

- All pages and all questions
are properly printed

In case of any discrepancy/defect, the candidate should
immediately report the matter to the Invigilator for replacement
of Question Booklet(QB) and OMR Answer Sheet. No
claim/objection in this regard will be entertained after five
minutes of start of examination, candidate will be liable for the
same.

Read all instructions on the reverse of OMR Answer Sheet.
On OMR Answer Sheet, use blue ball point pen only.
Please, fill your Roll No. and other information correctly in
OMR Answer Sheet.

If more than one response is marked for a question, it would be
treated as wrong answer.

1/3 part of the mark(s) of each question will be deducted for
each wrong answer. (A wrong answer means an incorrect answer
or more than one answers for any question).

Each question has five options/circles. First four options/circles
(A), (B), (C) and (D) are related to appropriate answer and fifth
option/circle ‘(E)’ is related to ‘Question not attempted’.

To indicate the correct answer, the candidate has to fill in only
one option/circle (A), (B), (C) or (D) with blue ball point pen
for respective question number on the OMR Answer Sheet.
If the candidate does not want to answer any question then the
fifth option/circle “(E)’ should be darkened.

1/3 part of the marks will be deducted for the questions, if none
of the option/circle are darkened.

If a candidate leaves more than 10 percent questions or does
not darken any of the five options, he/she will be disqualified
for the exam.

Candidate will be given 10 minutes extra to make sure, if
he/she has filled up any one option/circle for each questions.
If there is any sort of ambiguity / mistake either of printing or
factual in nature in Hindi or English version of questions, then
the English Version will be treated as final.

Use of Mobile Phone / Bluetooth Device or any other electronic
gadget in the examination hall is strictly prohibited. If any such
prohibited material is found with any candidate, strict action
will be taken against him/her as per rules.
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Warning : If a candidate is found copying or using unfair means or
if any unauthorized material is found in his/her possession, F.I.R
will be lodged against him/her in the Police Station and he/she would
be liable to be prosecuted under State Public Examination (Measures
for Preventions of Unfair Means in Recruitment) Act. 2022 and
Amendment Act 2023. The act has provisions of imprisonment of
10 years to life and fine up to ¥ 10 crore. Board may also debar him/
her permanently from all future examinations conducted by the
Board.

Do not open this test booklet until you are asked to do so.
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(A) TS THL I A HA

(B) I I g ¥ iftad &

(C) EuT SEATaIST 1 = A

(D) FZ F IS I8l v ¥ fored

(E) Agafaug

TH UH UiadEe ¥ Hihy Tgs I % g fefafed § 9
-9 g9 Tafaid fea ST 22

(A) TS HIE G (B) SIS 374

(C) *MEe 5w (D) T3S M g

(E) rgafd 9

ffaRad o & -9 dete Tk T8t a2

(A) HTTP (B) DNS E
(C) NIC (D) Telnet

(E) orgafd g

Gmail g 3Afkay foha" MB %1 $8a 31e=me qufdid 2rar 2,
19 918 9 38 Google Drive foish B siqat qar 22 (A # &

Yo 3T ferehed )
(A) 10MB (B) 15MB
(©) 20MB (D) 25MB
(E) gaid o
%, %,% 3T % T HCF T 87

1 3
@A) To ® 20
© =5 ™
(E) 3¥gaia g

F SATh U eie § 1Y F 1:2:3 % I H 98 A, B 3R C
Y A UE A, B 3T C % T T8 WHAT: T156,F 165
HIT X 322 1 HAHA 57 g1 Tt ATHAT hl TF 1Y Ad §Y
sifd =afth fiad = &

(A) T 165 (B) T21435
(©) %221 (D) %242
(E) 3¥gaiasd

TIM P AR TIA Q o oftel AT il [ HIforw) FfE Toh 27 29
P ¥ Q e 40 Terwi/sier it ifd & I AT B S EIF Q U P
A 60 farfi/der 1 i & aTe AT 2, 3 AW § F 5
S T GH AT R

(A) 150 ferdt (B) 100 ferrft
(C) 180 fepdft (D) 120
(E) 3Fgafa s

T 96 1 % 1280 H s= I STl SferTd i, 3T aq
T 1920 H S=1 W B I1d Ifwrd <19 3 ST Bl 25% A9

FAT o foTe areq 1 forsker et & =nfey
(A) T 2000 (B) 2200
(C) T 1850 (D) T 1600
(E) orgafd g

In Microsoft Word, the keyboard shortcut ‘Ctrl + E’ is used
to .

(A) Copy selected text

(B) Align the text to the center

(C) Select the entire document

(D) Capitalize first word of the text

(E) Question not attempted

In MS PowerPoint which of the following views is displayed
during a conference slide show?

(A) Slide sorter view (B) Outline view

(C) Slide view (D) Slide show view

(E) Question not attempted

Which of the following is not an Internet Protocol?

(A) HTTP (B) DNS

(C) NIC (D) Telnet

(E) Question not attempted

What is the maximum size (in MB) of email attachment
supported by Gmail, after which it converts the attachment
into a google drive link? (Choose the most appropriate
option from below)

(A) 10MB (B) 15MB

(C) 20MB (D) 25MB

(E) Question not attempted

What is the HCF of %, %, % and % ?

" Ty ® 35
© 25 o 3

(E) Question not attempted

A certain number of persons went to a restaurant. They
belonged to groups A, B and C in the ratio 1:2:3. The
average amount spent on each member of group A, B and C
is ¥ 156, ¥ 165 and T 322 respectively. Taking all the
persons together, the average amount spent per person is:
(A) T 165 (B) ¥214.35

(C) 221 (D) T 242

(E) Question not attempted

Find the distance between the station P and station Q. If a
train travels from station P to Q at a speed of 40 km/hr and
returns from station Q to P at a speed of 60 km/hr, to take
total time of 5 hours for the round trip.

(A) 150 km (B) 100 km

(C) 180km (D) 120km ﬁ
(E) Question not attempted
The percentage loss by selling an article for ¥ 1280 is equal

to the percentage profit earned by selling the same article
for ¥ 1920. What should be the selling price of the article to

make 25% profit?
(A) %2000 B) 2200
(C) T 1850 (D) ¥ 1600

(E) Question not attempted
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A YR o6 e 79 H, T YAl =l /1= /el 61 55% A
Tt ST 20% #d ST 91C Q) e STt ¢ wai i Fel
| 7500 off, d g8 At <6 firet w2 i b de 9rd )

(A) 2800 (B) 3000
(C) 2700 (D) 3100
(E) rgafd 9

P Q I T 5000 3T R I F TR 14% 1M 3T & Aremor
SIS SR H | Ffe 4 9 927 P Rl hed T 4480 ST e,
Al R T 30T 9T TS TR

(A) %1500 (B) %2100

(C) %3000 (D) T 4200

(E) orgafid 9=

2011 3 ST % IFLER, TSEH % Hefafad e 3§ @
Torm fret =i Tmerwar <2 o= 9 ofi?

(A) AT (B) ST EE
©) =& (D) SEYT

(E) Fgafa s

famferfiaa 5 & for o e “WisiFe <" 1 e [ed €,
TS T Hezash o faream v gam = foe 3 31ie 1980 1 q:
TTT ok T AT

(A) ST (B) AR

(C) s (D) I

(E) orgafd 9

frefafaa & & F19-01 ST-ufEm Ioa ST 1 T T9TT T8 27
(A) T (B) SiU®

(C) I (D) ITALR

(E) 3¥gaiaud

frfafaa & @ fFa wreT & 2009 7 sfeam sifwa SnE=
(ST = fedl ot O Sfenfis staer afed g of?

(A) =& (B) wHaret

(C) AL (D) SEeHT

(E) Fgafagg

TS § UATeoT TEI0 o Hey §, RAPCC (IR T € €t )
i QU1 & T 22

(A) TSI TR W 3 FATZHE s

(B) TSR TR WH 3T FeI3HE hale

(C) TSR T UTferH BT FATgHE hlay

(D) TSR TR WH 3 FATZHE ot

(E) 3rgafa sy

T ST A S e h T fore o | <61 off?

(A) 1457% (B) 1458%.

(C) 1459%. (D) 1460%.

(E) gaid 9

397 FAAAT HUTH (1857 H) o G0 SAUSH g7 BiET 9T =@
S STl TSTE & U8l oFih o -

(A) fosm féig uforss (B) TS e 9t

(C) T =g Fifean (D) o fie smeEs

(E) 3Fgafa g
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In an election between two candidates, one candidate got
55% of the valid votes, when 20% of the votes were found
invalid. If the total number of votes polled were 7500, then
find the number of valid votes that the other candidate got.
(A) 2800 (B) 3000

(C) 2700 (D) 3100

(E) Question not attempted

P lends ¥ 5000 to Q and a certain sum to R at 14 % per
annum simple interest. If after 4 years, P receives a total of
T 4480 as interest, then the sum lent to R is:

(A) T 1500 (B) 2100

(C) %3000 (D) ¥ 4200

(E) Question not attempted

According to the Census of 2011, which of the following
districts of Rajasthan had the lowest literacy rate?

(A) Alwar (B) Jalore

(C) Churu (D) Jaipur

(E) Question not attempted

In which of the following places is the headquarters of
“Project Chetak” that was re-raised on 3 April, 1980 for
expanding and improving the road networks?

(A) Bikaner (B) Alwar

(C) Dausa (D) Ajmer

(E) Question not attempted

Which of the following is not a division of the North-
Western Railway Zone?

(A) Bikaner

(C) Ajmer

(E) Question not attempted

(B) Jodhpur
(D) Udaipur

Which of the following cities witnessed an industrial
disaster at an Indian Oil Corporation (IOC) depot in 2009?
(A) Churu
(C) Jaipur
(E) Question not attempted

(B) Banswara
(D) Jaisalmer

In the context of environmental protection in Rajasthan,
what does RAPCC stand for?

(A)
(B)
©
D)
(E) Question not attempted

Rajasthan Action Plan on Climate Conservation
Rajasthan Action Plan on Climate Control
Rajasthan Action Policy for Climate Conservation
Rajasthan Action Plan on Climate Change

In which year did Rao Jodha found the city of Jodhpur?
(A) 1457 AD. (B) 1458 A.D.
(C) 1459 AD. (D) 1460 A.D.
(E) Question not attempted Eﬁ
The first person from Rajasthan who was hanged by the
British during the country’s freedom struggle (in 1857)
was-

(A) Vijay Singh Pathik (B) Arjun Lal Sethi

(C) Amar Chand Banthia (D) Kesari Singh Barhat

(E) Question not attempted

2509M K-
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Wwﬁwhﬁﬁww% qr 31aaet g9 gRT S
AT STeiferes] ohT ST B 2

(A) sTmafda (B) forg wfaferesr

(C) & & WA AHELH (D) awﬁ@ﬁzr

(E) ag?rﬁ‘crw

15501 Ereht gfea Hifaer ey Tredi = freRmRTT -2025 3 At
[EREEEIR v

(A) &= (B) SW YT
(C) HET I (D) =
(E) orgafd o

WA 9T sfedi g A <fer shel & foham i o
(A) 27 313, 2025 (B) “lowg, 2025

(C) 07182025 (D) 22 3T, 2025

(E) 3Fgaia g

FTE, 2025 H ATRTHS H ST YRR SRR 94 gwesiiel
%ﬁmﬁqﬁméﬁmﬁwﬁf@mﬁmﬁ?

(A) Toram afEr (B) feeamfa firg wen
(C) et e (D) A @
(E) 3¥gaiasg

T TSIE 2025-26 o TTH, TFET shice HIS (FHTEN) T+
T Heifora STt SR AISHT  ded 3 K0T HiHT 741 27

(A) T29@@ (B) T59/@

(C) T39m@ (D) 109/ EE
(E) orgaid o=

A o {58 =T | “BHfeeT BRkeaer” BT ST 82
(A) mTTels (B) st&m

(C) =T (D) TET

(E) rgafd 9

“H e A AT TR TR & H T 2

(A) AR (B) =Ry
(C) TR (D) TG
(E) 3¥gaiaud

ST Tl Shell 1 Uk &Y TSrdert 3917 S92, Jae,
T, ST S T Tl AT 1 G o o fofam simer 2,
FEATAT &

(A) B8 (B) wieum
(C) 9= (D) FMEE
(E) orgafd gg

TS § fAeferfiga 9 9 forg wmes i “qiaTe o5 aemee”
HET ST 82

(A) SHed o (B) IaTeT HfEw
(C) TUTRYL S HfeT (D) g T T
(E) orgafd o

TSTET # I HaTS o it o1 I 7, S 9o 37 Afeard
T 919 TTd &, 39 919 © ST 57T &

(A) T (B) eHHtEr
(C) < (D) Hi
(E) a9

&Y fiE TrETad, TR ST TR YT R TSt I et &
it FeaTHe 22

(A) TS (B) AT
(C) warE g (D) e dreft e
(E) Igafayg
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The size of image formed by concave mirror, when the
object is kept beyond the center of curvature is: EE
(A) Magnified (B) Point image
(C) Same size as object (D) Smaller than the object
(E) Question not attempted

Which state hosted the 15th Hockey India Senior Men
National Championship -2025?

(A) Punjab (B) Uttar Pradesh

(C) Madhya Pradesh (D) Haryana

(E) Question not attempted

When was Operation “SINDOOR” launched by Indian
Armed forces?

(A) April 27,2025

(C) May 07, 2025

(E) Question not attempted

(B) May 10, 2025
(D) April 22, 2025

Who was the player from Rajasthan who participated in
Asian Junior Women’s Handball Championship held at
Tashkent in August, 2025?
(A) Kiyanna Parihaar

(C) Norti Mewada

(E) Question not attempted

(B) Divyakriti Singh Rathore
(D) Avani Lekhara

As per the Union Budget 2025-26, what is the new loan
limit under the Modified Interest Subvention Scheme for
Kisan Credit Card (KCC) loans?

(A) T2 Lakh (B) ¥ 5Lakh

(C) T3 Lakh (D) %10 Lakh

(E) Question not attempted

In which state of India is “Hornbill Festival” celebrated?
(A) Nagaland (B) Assam

(C) Manipur (D) Meghalaya

(E) Question not attempted

In which region of Rajasthan is the “Kapil Muni Fair” held?
(A) Kolayat (B) Chaksu

(C) Chandanpur (D) Nawalgarh

(E) Question not attempted

A form of Rajasthani folk art used to decorate walls,
doorways, doorsills, platforms (chabutaras), courtyard and
places of worship etc. is known as:

(A) Phad (B) Mandana

(C) Paane (D) Kavad

(E) Question not attempted

Which of the following monuments in Rajasthan is known
as the “Taj Mahal of Marwar”?

(A) Jaswant Thada (B) Dilwara Temple

(C) Ranakpur JainTemple (D) Fateh Prakash Place

(E) Question not attempted

The famous folk song of the Bhils of northern Mewar in
Rajasthan, sung by men and women together, is known as:
(A) Patelya (B) Hamseedo

(C) Languriya (D) Maand/Mand

(E) Question not attempted

Roop Singh Shekhawat, Dayaram and Tara Sharma are
renowned artists of which Rajasthani dance form?

(A) Garba (B) Ghoomar

(C) Bhavai Dance (D) Terah Taali Dance

(E) Question not attempted

2509M K-
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29  TSRYH o AH AT “THd AR § A1¢h o HeAThR]
1 e ST &
(A) IR (B) St
(C) wfeam (D) "
(E) gafd 9
30 F 1o @rer g 11 T fHere i
Tt 1 (77eT) T 11 (ferserom)
a.  gEel I HeEars faemor
b. e I qeTere fersior
c. IcHd ML Torar=eh farsror
d. It Iv. gfesmyor
it e e foreped H @ werd 30 3L T =5 I
(A) a-ILb-1,c-1V,d-1I
(B) a-ILb-1Lc-1V,d-1
(C) a-IV,b-Lc-1II,d-1II ﬁ
(D) a-ILb-1V,c-II,d-1
(E) rgafd 9
31 ffafad & & acam wee -
(A) adl (B) Sy
(C) (D) Tl
(E) rgaidu
32 fmfeiiad 3 4 qqwd wreal i =3 Hifer -
a. 9 b. I
c. A d. ¥R
e. TU
e a2 e foreredi § O HEl 3T 1 9 it
(A) FaAb 3N e (B) *ada3fd
(C) Fadda 3T c (D) Faad IR e
(E) 3¥gaiasg
33 frfafad & @ w91 39t 3Teg T 27
(A) wem ®) feform
(€) w1 (D) FHT
(E) ¥gafaud
34 i weel d 9 foeerst vree o1 = Fifse-
(A) I (B) 33
€ w® (D) =
(E) ogafd 9%
35 “qitem 1 Giv-fose g
(A) Th+a (B) dit+am
(C) wh+dem (D) uftsser
(E) rgafd 9
36 STETOr ITeg 1 Gi-foeas BIm-
(A) ST+ER (B) 3g+IRW
(C) 3+ (D) S+
(E) 3¥gaiaug
37 wifafe wree ¥ Fi-AT ST 22
A) o B) ¥1q
(©) sHfa (D) e
(E) a9

29

30

31
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33

34

35

36

37

In the musical drama “Rammat folk drama” of Rajasthan,
the performers of this musical drama are called:

(A) Kathakans (B) Jogi

(C) Mediya (D) Khelars

(E) Question not attempted

=i 1o |y = 11 = e Fifs-

et 1 (%) et 11 (Frerom)
a. el I s R
b. U= II.  qoTeash famior
c. IcId 1L TorET= oo
d. At V. gfeesor

e T2t T forshedl § 9 Herdl STh 3T BT =13 HINC;
(A) a-TILb-Lc-1V,d-1I
(B) a-ILb-ILc-1IV,d-1I
(C) a-1V,b-Lc-II,d-1II
(D) a-1Lb-1IV,c-1L,d-1
(E) Question not attempted

fr=fafad 8§ 9 “deam wree 2-

(A) et (B) sfrw

(€) @ (D) TR

(E) Question not attempted
ffiad & € qg9a Weal 1 9 IS -

a. b. ™

c. S ic) d Hr

e. U

T fo3r o foremedt & @ Gt ST o = il
(A) FaAb A e (B) Fada3Td
(C) FacTa e (D) HaAd 3N e
(E) Question not attempted
frefafad 8 & F19-91 39 3168 & 82

(A) e B) feform

(© = (D)

(E) Question not attempted
frefefaa weat o & foes 3rse 1 w7 Sifste-
(A) dI (B) 33

© % (D) &

(E) Question not attempted

e w1 Gf-fese gm-

(A) FHaT (B)
(C) wHi+3er (D)
(E) Question not attempted
ITANOT 758 T HfY-foredrg gm-
(A) ST+ (B)
(C) 3+ (D)
(E) Question not attempted
“FAfafh’ 3158 § HIH-HT ITEHT &2
(A) & (B) d
(C) st (D)

(E) Question not attempted

i+
qieSar

SEHET
S

2509M K-




Join Telegram Channel "QuickSarkari.Com"

£ 4 A
L ) ] L))

& p
6
ALV

g f 4 . 4
AN § ‘ §
) Y [
U \ ) VU

38

39

40

41

42

43

44

45

46

47

G T H -8 TeTT 27

(A) g (B) @

© T (D) =W

(E) 3¥gaia g

oft STHHT AT Wie ey i F=fafea & @ fha aidie
eI Hell B T faresrar & faw afirg &2 EE
(A) Feqactt (B) &

(C) SHTeAsIforT (D) THd

(E) rgafd 9

TSI 6T -5 3t il = (i Tl w1 Osm) Fam d
BT e

(A) STHTEFR 3 (B) Tusten sfita

(C) TH A (D) Tafereg st

(E) rgafd 9

14 ST 1947 I, ARATT GTE @91 & G0 1 1T F8
g2 (e & O o Iwyeh foreed <)

(A) i foreT qraAT g et <)

(B) idtr forem Gl o Hewi g STee Il

(C) forea i werwHt g WAl

(D) T % TS AT 9T

(E) 3¥gaia g

TSAITA S S ToAT TR S7eremn, U9 foramwed &
AR % e, HAfershay fohd THT q TTe Team 27

(A) 184HHTE (B) 649H®
(C) 2449drE (D) 20 9HE
(E) a9

TRART | 1 317=ae-60 fFrefafaa & waifaa &
(A) A % Tegafd ST 319 A1 Yfagme

(B) WIQ % gyt 1 <A1

(C) T o Tregufd & &9 # fRatfera 8 it Fvear
(D) Tregufd % 7q  forg wrd

(E) rgaidu

0 ¥ fohae 3=a =mme 8, S Sefeen o o st
TS W 2 (T ST JawT IiHe Teh)?

(A) U= (B) 33

(C) 9@ (D) o

(E) Igafayg

TR S < o =it < Sfarid, “edTi qeapm = o
A

(A) TSI (B) waH=
(C) THed gt (D) e g
(E) 3¥gafasg

TISTET shi ST THIET 2024-25 % SITEI, AUH STTHAT
ST T A 2024-25 3 TG AT Hsi o ST Yt s
T 7o

(A) T 1,66,647
(C) %1,85,053
(E) 3Fgafaug

Jaet 2025 ¥ famafafigd 9 @ forg @a S Aser Usea §

ST

(A) 59 W Sfear gt e
(B) @@t fag 92025

(C) @ e T iy

(D) 7T g&y T Y

(E) 3Fgafa g

(B) 1,95,053
(D) ¥ 1,90,053

38

39

40

41

42

43

44

45

46

47

G o3 | -8 e &7

(A) (B) HFT

© T (D) =

(E) Question not attempted

Shri Janki Lal Bhand is renowned for his expertise in which
of the following traditional performing arts of Rajasthan?
(A) Kathputli (B) Bahrupia

(C) Kalbelia (D) Rammat

(E) Question not attempted

Which lake of Rajasthan is popularly known as “Tirtha Raj”
(King of Pilgrimage Sites)?
(A) Anasagar Lake

(C) Pushkar Lake

(E) Question not attempted

(B) Pichola Lake
(D) Siliserh Lake

How were the members of the Indian Constituent Assembly
chosen on 14th August 1947? (Choose the most appropriate
option from below)

(A) Directelection by the Provincial Legislative Assemblies.
(B) Indirect election by the members of the Provincial
Legislative Assemblies.

Nominated by the Queen of Britain.

Nominated by the Viceroy of India.

Question not attempted

©)
(D)
(E)
An ordinance promulgated by the Governor of a State
remains in force for a maximum period of how long after
the reassembly of the State Legislature?

(A) 18 Weeks (B) 6 Weeks

(C) 24 Weeks (D) 20 Weeks

(E) Question not attempted

The Article-60 of the Indian Constitution is related to the:
(A) Oath or affirmation by the President of India.

(B) Election of President of India.

(C) Qualification for election as President of India.

(D) Conditions of President’s office.

(E) Question not attempted

How many High Courts having jurisdiction over more than
one state are there in India (Union Territories not included)?

(A) Five (B) Eight

(C) Seven (D) Three
(E) Question not attempted

Under which list of the Constitution of India, is the subject
of “Local Government” included?

(A) State List (B) Union List

(C) Concurrent List (D) Welfare List

(E) Question not attempted

According to the Economic Review of Rajasthan 2024-25,
the estimated per capita income at current prices for the year
2024-25, based on advance estimates is:-

(A) T 1,66,647 (B) ¥1,95,053

(C) ¥1,85,053 (D) ¥ 1,90,053

(E) Question not attempted

Which of the following games will be hosted in Rajasthan in
November 2025?

(A) 5th Khelo India University Games

(B) Kho Kho World Cup 2025

(C) Khelo India Para Games

(D) Hockey Men’s Asia Cup

(E) Question not attempted
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48

49

50

51

52

53

54

55

56

mewﬁnﬁn@ﬁmwﬁmvﬁw

a:ra%:ww%wﬁwﬁﬁwﬁmﬁwaﬁ)

(A) mﬁﬁmﬁﬁwmﬁw%ﬁﬁqwﬁﬁ
%ﬁzwﬁﬁfi&rﬁrﬁﬁaﬁammml

(B) Teramt =6t 3% @al W &g gimmret & fmior & fog
IENERHECIREEEE

(C) forumi &1 HfY ITehtor iR wefiedt Eiied  foe foda
YT Y& T

(D) ¥fHe fopami =il iy ot @lied % o foedra wemar
& T

(E) 3¥gaiaug

TSR TSY SIS 2025-26 % ALER, “seiteh U s =6t

TTOAT aT i ST

(A) IT& (B) HIRt

(C) WL (D) SiaR

(E) rgafd 9

TS 2025 % S TSTEAT H FHeA™ JAT A Frie
(KYLC 7.0) et sttt f3ham mam

(A) ST (B) SEEHR

(€©) g (D) 3R

(E) 3¥gaiaug

frefefiad o 9 S9-91 T Tl Gifeaat T8 87
(Foret el S ek <) |53
(A) T.TE. U

(B) TR BT

(C) I (Unix)
(D) oy H1.ud. HIfEH (WPS Office)

(E) ¥gafa9g

T TSTES T % TS I, TSTEL U5 5 Tl TeTerarhl i
o 2 (=1 1§ e 39k forehied =)

(A) @ Ty, et (B) it S, Fraeare

(C) <\, faam (D) #ft 3T, Tt

(E) orgafid 9

TS 1 TSI 3771 HERT ot Frpfeh forereh et ot ed 82

(A) 3T (B) I AR

(C) Tegws (D) = wt

(E) rgafd 9

TSTIE T T % FATH T % 1S TSTEAM % Teet Tsare
A 542 (e o O wsr Sweh forehed <)

(A) e T fiE (B) werrs i e fidfr
(C) % faet® (D) #ft afer 79 W

(E) rgaRdu

W o STefiey =ATerl o =i s e frefataa o
Y I el 27 (e o O wsrd S forehed <)

(A) WHG & eIt (B) R % e Hft

(C) I < &I =R (D) TST 1 TSAUTA

(E) Fgafa 9

AT AT - 2005 % FTHR T-3 AT BN AT & FHIS
T Ifd 98 FoAT % o e #0122 (e § § gl 3%

[EETSRCE)

(A) %209fd9s (B) % 109fd9s
(C) T129fdYs (D) T29fdgE
(E) 3¥gafa s

48

49

50

51

52

53

54

55

56

What is the objective of the Mukhyamantri Krishak Sathi
Sahayata Yojana launched by the Rajasthan government?
(Choose the most appropriate option from below)

(A) To provide financial assistance to farmers and
labourers in case of fatalities or injuries to their various
body parts.

To provide financial assistance to farmers for
construction of irrigation structures on their fields.

To provide financial aid to farmers for buying farming
tools and machinery.

To provide financial aid to landless farmers for buying
agricultural land.

(E) Question not attempted

According to the Rajasthan State Budget 2025-26, where
will the proposed ‘Block Printing Zone’ be established?
(A) Bagru (B) Sikar

(C) Sanganer (D) Jodhpur

(E) Question not attempted

B
©
(D)

Where was Kalam Youth Leadership Conference
(KYLC 7.0) held in Rajasthan during July 2025?
(A) Jodhpur (B) Jaisalmer

(C) Jaipur (D) Udaipur

(E) Question not attempted

Which of the following is not an application software?
(Choose the most appropriate option from below)

(A) MS Paint (B) Adobe Photoshop

(C) Unix (D) WPS Office

(E) Question not attempted

On the formation of the new state of Rajasthan, who became
the first Advocate General of the state of Rajasthan?
(Choose the most appropriate option from below)

(A) Dr. LM. Singhvi (B) Shri G. C. Kasliwal

(C) Dr. S.K. Tiwari (D) Shri R.K. Rastogi

(E) Question not attempted

The Governor of a State appoints other Ministers on the
advice of-

(A) Speaker

(C) Chief Minister

(E) Question not attempted

(B) High Court
(D) Prime Minister

Who became the first Governor of Rajasthan, after the
abolition of the institution of Rajpramukh? (Choose the
most appropriate option from below)

(A) Gurumukh Nihal Singh(B) Maharaj Man Singh 1T
(C) Raghukul Tilak (D) Shri Bali Ram Bhagat
(E) Question not attempted

Who among the following appoints the judges of the
subordinate courts in India? (Choose the most appropriate
option from below)

(A) President of India (B) Prime Minister of India
(C) Chief Justice of India (D) Governor of State

(E) Question not attempted

As per the RTI Act — 2005, what is the fee per page of
information, on A-3 or smaller size paper? (Choose the
most appropriate option from below)

(A) 20 per page (B) ¥ 10 per page
(C) 12 per page (D) 2 per page
(E) Question not attempted
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57 AHT & § fohad e B &7 57 Human heart has how many chambers?
A 1 B) 2 A1 B) 2
©) 3 (D) 4 y © 3 (D) 4
(E) AN 94 ﬁ (E) Question not attempted
58 o T P g a2 58 Malaria disease is caused by: .
(A) Protozoa (B) Virus
A) A CRIE] (B) aRRH (15 D (C) Bacteria (D) Fungi
© st (SITSTT) (D) wI=F (E) Question not attempted
(E) IG5 59  Match List T with List T1 -
59 @Iﬁ@nﬁ@ﬁ‘ﬁﬁ- List I List IT
(Chemical Formulae (Compound Names
A1 = 11
L€} T ATH a. Na,CO;-10H,O 1. Baking Soda
1) ) 2LV3 2
a. Na,CO5-10H,0 1. CIEAKIS b.  Ca(OH), 1.  Plaster of Paris
b Ca(OH), I = E.EE?AT':F&];{'H c. NaHCO; 1. Washing Soda
c.  NaHCO; 1. TR Hrer 1
d. CaSO4-5H,O IV. Slaked Li
i CaSO, +H,0 1Iv. smwgsnmsm 422 aieed mme
2 AR Choose the correct answer from the options given below:
et fe e et # @ wel ST I (A) a-1L,b-1,c-1V,d-1II
(A) a-T,b-T,c-1V,d-TII (B) a-Lb-IILc-TV,d-1I
(2) a- ;Ibt-)n?\/c ) “;’ j i E (C) a-NLb-1V,c-1,d-1I
(€) a-TILb-1V,c-1,d- (D) a-1V,b-ILc-1,d-1I
(D) a-TV,b-1,c-1,d-1

60

61

62

63

64

(E) Agafasg

et farf3te feugeywEt == 19 WX STaRTY 1 S i
FIETICICT IS IGIEE

(A) defa (B) T
(C) aHfishaifEdT (D) &I
(E) Agafaug

Choose the most appropriate option to translate the given

sentence from English to Hindi:

“You will need the registrar’s signature on this document.”

(A) 319 39 GEaTasT 0 IRTEH 3 BEdTer 2T =1ty

(B) 3Ta! 30 AT W IR & BEATer <l SATavIehdl
&t |

(C) =8 TEATast T ISR & BTt il ol

(D) 39 SEATaST 9T ISR 3 SdTe & ehl 2l

(E) rgafd o

What is the official term for “a written statement confirmed

by oath or affirmation, for use as evidence in court”?

(A) arbitration (ﬁam) (B) surveillance (ﬁ’Wﬁ)
(C) affidavit (BHAMT) (D) executive (FRIHHT)
(E) Agafayg

TS 1 fefafad § @ -9 8, staursds diar o fed
22

(A) I& (B) TUSHHS

(C) wierarer (D) T

(E) rgafd

ek (@ TSE o frefafiad & & fopg W & St it 82
(F=r 1 4 g 39k farehed )

(A) s faa (B) <ot fim

(C) eI T (D) gt ferm

(E) 3¥gaiasd

60

61

62

63

64

(E) Question not attempted

The process of burning waste at high temperature in a
specific reactor/furnace is called:

(A) Landfill

(C) Vermicomposting

(B) Recycling
(D) Incineration
(E) Question not attempted

Choose the most appropriate option to translate the given

sentence from English to Hindi:

“You will need the registrar’s signature on this document.”

(A) 9 38 SEATS! 9T TSFEZI o BETer BT =118y

(B) 3T 3 IEATAS T USSR o BEATeL Sl SATFTIhRAT
&t

(C) 39 TETasT T UNTER 3 BdTer hial ol E

(D) 39 TEATEST YT ISTEZR o BEdTer 2l Tehdl 2

(E) Question not attempted

What is the official term for “a written statement confirmed
by oath or affirmation, for use as evidence in court™?

(A) arbitration (fF@m=H)  (B) surveillance ()

(C) affidavit (S<THATHT) (D) executive (?Pf?lﬁ)

(E) Question not attempted

Which one of the following regions of Rajasthan, is located
on the international border?
(A) Churu

(C) Bhilwara

(E) Question not attempted

(B) Rajsamand
(D) Bikaner

The Tropic of Cancer passes through which of the following
parts of Rajasthan? (Choose the most appropriate option
from below)

(A) Northern tip

(C) Central part

(E) Question not attempted

(B) Southern tip
(D) Eastern tip
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65

66

67

68

69

70

71

72

freafefaa 3 @ - = TS % ey et ydaqTen §

feord 2 (F11 & & W8 3T forehed )

(A) TG (B) drrTe

(C) sum (D) 3T

(E) orgafid 9

o A TeTer & freferfaa 8 @ form afem @ weiftm 22
(P 8 vy g feee )

(A) s AT (B) W& SR
(ORSRIEIEE] (D) HTsREAT sIfe

(E) orgafd 9

TSR o 12T, S8 HI Femars &= | ffafad § 9 e
Yo 1 gt e w9 @ rg St @7 (e ° @ gel 3ugh

fershe =)

(A) YfrEar firgt (B) AT-diedt figh
(C) hreft firgt (D) Hewse gt
(E) orgafd o

foRet i W 10% AMfeh S H 2 TN & aohglg oaTs 3T
YTETOT SATST <hT ST T 12.50 B SN J1a HISTT Saifeh st
I T ST 2l

(A) T 500 (B) %1000 EE
(C) %1250 (D) %1500
(E) ogafid 9

A 3 Tl % 20,000 3T TR T 3 AT AT 4781 TSR
I T sk (g, SATST X et foram| afe samst il &€ 10% J1fheh
3112 7 3 370 7 34 FeA < 4120 SATS o, A HTaR s
RN ECHEIR RN EIGERY

(A) %7500 (B) T 7800
(C) T 8000 (D) T 8250
(E) orgafid o=

i st # 4:5:7 % SgaTa 8 e off| STef Tedh 91w | 10 74
HIT ST &1 7T, T 3T 6:7:9 B TN & H et bl Fol H&AT
off:

(A) 64 B) 80
(©) 96 (D) 110
(E) 3¥gaia g

3 HEATSAT % STHA HT ITH Y TH ST % AT A 4.7 2
DI T T T T 6 W S T 22

(A) 1.7 (B) 2:5
(C) 1:5 (D) 3:7
(E) 3Fgafa g

o, Smer 3T e 32 50,000 T 35T ek Argier) § s
ST I LA T HEAT T fomet 4 90et 6 % 4000 Ao
HIT YAt 3§ WA ¥ X 5000 HAfereh Far fopw afe 3 F7 2
35,000 =T AT AT &, a1 1 & B formret &6 ferat afsr fireifo

(A) 9500 (B) ¥ 14,700
(C) T11,800 (D) % 16,500
(E) 3¥gaia 9

65

66

67

68

69

70

71

72

Which of the following peaks is situated in the central
Aravalli range of Rajasthan? (Choose the most appropriate
option from below)

(A) Raghunathgarh

(C) Jarga

(E) Question not attempted

(B) Taragarh
(D) Achalgarh

The “Chhappan Plain” is associated with which of the
following basins of Rajasthan? (Choose the most appropriate
option from below)

(A) Banas Basin

(C) Luni Basin

(E) Question not attempted

(B) Mabhi Basin
(D) Sabarmati Basin

‘Which of the following types of soil is predominantly found
in regions of Kota, Bundi and Jhalawar in Rajasthan?
(Choose the most appropriate option from below)

(A) Desert Soil (B) Red-Yellow Soil

(C) Black Soil (D) Laterite Soil

(E) Question not attempted

The difference between the compound interest and simple

interest on a certain sum of money at 10% per annum for
2yearsis¥ 12.50. Find the sum when interest is compounded

annually.
(A) T 500 (B) %1000
(C) 1250 (D) % 1500

(E) Question not attempted

Bhuvan invested a total of sum ¥ 20,000, partly on simple
interest and the remaining on compound interest. If the rate
of interest is 10 % per annum and he earned a total of T 4120
as interest at the end of 2 years, then find the sum invested
on simple interest.

(A) T 7500

(C) T 8000

(E) Question not attempted

(B) 7800
(D) T 8250

There were three buckets having balls in the ratio 4:5:7.
When 10 more balls are placed in each bucket, the ratio
became 6:7:9. The total number of balls initially was:

(A) 64 (B) 80

(©) 96 (D) 110

(E) Question not attempted

The ratio of the average of two numbers to one of the
numbers is 4:7. What is the ratio of the smaller number to
the greater number?

A 1.7

(C) L5

(E) Question not attempted

(B) 2:5
(D) 3:7

Vimal, Premal and Shyamal decided to start a business in
partnership by investing ¥ 50,000. Vimal invested I 4000
more than Premal and Premal invested ¥ 5000 more than
Shyamal. If they earn total ¥ 35,000 profit, then out of profit
how much amount does Vimal get?

(A) 9500 (B) % 14,700
(C) T 11,800 (D) 16,500
(E) Question not attempted
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73

74

75

76

77

78

X, Y 3TN Z W fordl M i A 24, 6 AR 12 T’ d qu
T Gohd 8| TR 19 T T I 39 H14 I o feai § e
o

(A) % B) 12
© 3% ® 33
(E) rgafa sy

18 &Y 3Tora 28 AfeeTd foReT 1 i 20 fo § 7 9 @ 2
TS 6 T T 4 Al fietnt i i, a1 W forad fadi § qu
BT

(A) 30 (B) 45 X
(C) 42 (D) 36 ﬁ
(E) rgafa s

108 km/h 31 7Tfq § g TET 970 Hiet wieft TwrTt T ghr Al |
fie 9 Hehe T UT X Il 21 G Al 7 (e 7) 2

(A) 1080 (B) 1090
(C) 1100 (D) 1120
(E) rgafd g

T AT Uk THTE H 6650 3eifdresh IS o1 SdTe hidl 2l
TGS H IRATL deh M FLdl € e Seured gfcrd J
faeferfiad o ST geri T 2l

25+ 24%
22%

20%

20 18%

16%

gasm —>

e & fm —>
AR ST TEa 1 IcTfad forgd Hieti shi e A 8-

(A) 1197,1330 (B) 1463, 1596
(C) 1064, 1330 (D) 1064, 1197
(E) Agafasg

frfafaa 9t 8 @ w-ar w5 1 9 TE 22
(A) Sfqara® (B) A
(C) e+ (D) =fhaTa®
(E) ¥gafa s

“TE ASHT YHST T, ST hel &1 AT AN - TR H S G
i1 Hate 399 § fored 22
(A) AHzEETEE g™
(C) HetyaTee TIam

(E) 3rgafd 9

(B) U®YaTEF @S
(D) TAstar=es gaam

73

74

75

76

77

78

X, Y and Z each can complete a work in 24, 6 and 12 days
respectively. Working together in how many days will they
complete the same work?

W 2 ®) 12
© 3% o) 3%

(E) Question not attempted

18 men or 28 women can complete a work in 20 days. If
6 men and 4 women work together, then in how many days
will the work be completed?
(A) 30
(C) 42
(E) Question not attempted

(B) 45
(D) 36

A 970 m long train running at a speed of 108 km/h passes a
tunnel in 1 minute 9 seconds. The length of the tunnel (in m)
is:

(A) 1080

(C) 1100

(E) Question not attempted

(B) 1090
(D) 1120

One company have a production of 6650 electric motors
during a week. Company works from Monday to Friday.
Day-wise production in percentage is represented by the
following graph.

25+ 24%

22%
20%

18%
16%

5=}
(=]
N

Percentage

Monday Tuesday Wednesday Thursday Friday
Days of Week ——>

The number of electric motors produced on Tuesday and
Thursday are respectively -
(A) 1197,1330

(C) 1064, 1330

(E) Question not attempted

faeferfiad 96 § 9 hi9-a1 @51 1 9e T8l 822
(A) STfaTa® (B) SHd=H
(C) MziaT== (D) SAfhar®

(E) Question not attempted

(B) 1463, 1596
(D) 1064, 1197

“TE ST YhST T, ST hel FET ST M) - AR | I Fa |
T Gee 390 9§ foRad 27

(A) SARIETEE gaaTd
(C) HeoaTee TaA™

(E) Question not attempted

(B) UHYaTH G
) RESEIEER ELIC)

2509M K-




Join Telegram Channel "QuickSarkari.Com"

-
i1 ﬁg
A R

{ i i1 i1 il | 11
79 TS fpamat &7 et S W Ut 2, 3 el STl 2- 18 79 S foramett 1w Y W UedT 2, 3 FE S 8-
(A) m (B) W%F;m (A) m (B) m%%m
(€) AT (D) YEHTeT (€) (D) YEHIfer
(E) gafid 9 (E) Question not attempted
80 fmfcitad wedl & & =ifer wreq &1 wafam= A& &2 80 frefctiaa wreal § ¥ “HieHT wT5g T qatET= A& 82
(A) =TT (B) difiw (A) == (B) difi
(C) SATeEAT (D) =t (C) A (D) *d
(E) 34':1311%?[ g9 (E) Question not attempted
81 “ITEHN o3 T faiH ETl- 81 “3TTheT g FH e Er-
Ve nEr Ve
(C) ™ (D) 3T q 3
(E) ATaia 9y (E) Question not attempted
82 T UEel T ST arer ARt % fore 3fera wrsg gmm- 82 ;i?ﬁ%ﬁﬁﬁaﬁwwmg)%%qsﬁﬁwﬁw
(A) 3T (B) g ST SN
(©) s (D) s © Hﬁ?ﬁ? (D) ST
(E) mg{q (E) Question not attempted
83 Freaferfiad At i & s1epe T T AR 83 fefeifiad it § 4 33 T 1 < -
(A) =8 Frarer # 2 g o 8 (A) 9 e & 214 o ¥
(B) WeTet BrEmEr Fafn 3 (B) WeTSell ST ot &
(C) 7% ¥t g 21 © fﬁﬁg@% % 2l 5
A (D) Bl
(D) E"Tf% ™ (E) Questlon not attempted
- - gt &5 T T R T AT
84 ﬁmﬁ%ﬁﬁﬁﬁwwﬁuaﬁmww%? 84 A) meu%?m T
(A) e gole 3312 | (B) WIET AT EIEM (B) e 371781 SR
(C) =tz avfi-onft fiarelr 1 (D) Gwad: e el SIT@T | (C) i areft-amt e 2 |
(E) STt st (D) WWad: o8 Fd ST |
85 ‘SR YT P T q‘maiw a7ef 2- (E) Question not attempted
(A) ST T BT FT FT 85 ST 9T 4T TEAT HerE b o7 2-
(B) = I R ww (A) ST SR BT F1 T
(C) shIferd €T (B) T T IR o
(D) T2 Y AT FIaHTH T (©) ;ﬁfga‘gﬁ:n‘
(E) 3IaRa 9= (D) <Y SITET 9Eer Wl
86 “Notification’ % foTT Itk &1 arett GHTTeff famdl 71ea 2- (E) Question not attempted i
(A) IITETH (B) whws 86 “Notification’ 3 T S &I STt GHTTeAT feet ¥1e8 2-
) ST > © serg= o) % R
(E) St s © (D)
87 A T TARTET SIRETT F Rreqd &9 § =R T Aredt (E) Question not attempted
2, 9% 3R TR ¥ M2 87 T G WM& SR 1 foreqd €9 8 TR T ared!
(A) = faafagm (B) tferg=AT R 2, I THH TR F HT?
(C) G 510 (D) e ST g (A) g gm (B) TR g
(E) orefa e (C) ST 5T (D) FMETT AR 5
88 Fill in the blank in the following sentence with the correct (E) .Questlon nolt attempted . .
tense: 88 Fill in the blank in the following sentence with the correct
. o tense:
Jubin the plum cake by this time tomorrow. . L.
(A) is baking (B) ha% d baked ‘(Ijil;mis — the plum cake(]lg ﬂ;l]: ;S;i :émorrow.
© haveﬁbemg baked (D) - will have baked (C) have being baked (D) will have baked
(E) ¥1g R (E) Question iot attempted
89 Choose the most app ropriate op tion .to convert the following 89 Choose the most appropriate option to convert the following
sentence from Active to Passive voice: sentence from Active to Passive voice:
She told him to come early. She told him to come early.
(A) He told her to come early. ) (A) He told her to come early.
(B) He had been told by her to arrive late. (B) He had been told by her to arrive late.
(C) He was told by her to come early. (C) He was told by her to come early.
(D) Come early, she told him. (D) Come early, she told him.
(E) ATdRa s (E) Question not attempted
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Choose the most appropriate option to convert the following
sentence from Direct to Indirect speech:

Pali said, “Arjun, please put your hat back on.”

(A) Pali requested Arjun to put his hat back on.

(B) Arjun was requested by Pali to put his hat on.
(C) Pali asked Arjun to put her hat back.

(D) Pali told Arjun to put on his hat.

(E) rgafd 9

25 T 1948 Y T, TSR E 3 Ygot TeTH:ft &I o1 92
(A) TS S (B) YT TW
(ORESKIKETICH (D) TR et St

(E) 3¥gaiasg

frfaifad ® © TS @ I Rd % 119 STsgafd o €9 5
EARIGREY.

(A) gfawr arfea (B) SEM gEe EE
(C) T TEY UTSe (D) T fie JrEmaa

(E) rgafd 9

AT for TrereerTHt e <l Suset 82

(A) J@mEREr (B) ®TENdT

(C) el (D) Zerel

(E) 3¥gaiasg

AT AT o SR, I8 Fisd 0= fed g i
TR, I5hT forsrat, Gt 37 et o i firear 8, 39 e
%.

(A) T (B) afer

(C) =afasr (D) T

(E) Agafaug

Hrerdl” T B fore & fore fore foafr <ar s o stra 22
(A) TEAE (B) JFATT

©) 3 (D) T

(E) orgafid 9

HTET HIE | A o STTEL T TSEAHT To¥ fohd S i et
Ted 87 (1 # 4 a8 3wk forehed )

(A) wdéia (B) HizeT

(C) w=fEn (D) et

(E) Agafaug

et elierg ATHT H & -8 ST TS Hfeersil g et
T ST 7

(A) famfat (B) Hig

(C) wr (D) TEE

(E) 3¥gaia s

refeTiiad # 9 forqr winficrehme woer o sfter afert Tsieer o
AT (ST B9 T &9 § i &7

(A) T (B) @i

(C) «m (D) 7

(E) rgafd 9

AT qSTTSH ohT qT Hidt Trere # freforfiad | | fahg T @
@ a?

(A) TOTERT (B) FIS
(C) weaHt (D) MR
(E) ogafd 9
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Choose the most appropriate option to convert the following
sentence from Direct to Indirect speech:

Pali said, “Arjun, please put your hat back on.”

(A) Palirequested Arjun to put his hat back on.

(B) Arjun was requested by Pali to put his hat on.

(C) Pali asked Arjun to put her hat back.

(D) Palitold Arjun to put on his hat.

(E) Question not attempted

Who became the first Prime Minister of the Union of
Rajasthan, formed on 25 March 1948?

(A) Hiralal Shastri (B) Sobha Ram

(C) Gokul Lal Asawa (D) Manikya Lal Verma

(E) Question not attempted

Who among the following from Rajasthan served as the 11th
Vice-President of India?

(A) Pratibha Patil

(B) Jagdeep Dhankhar

(C) Gopal Swarup Pathak

(D) Bhairon Singh Shekhawat

(E) Question not attempted

“Nagarchol” is a sub-dialect of which Rajasthani dialect?
(A) Shekhawati (B) Hadoti

(C) Mewari (D) Dhundari

(E) Question not attempted

According to Motilal Menaria, the poetic text where we find
the description of the greatness of a king, his conquests,
wars and valour is called:
(A) Raso

(C) Vachnika

(E) Question not attempted

(B) Veli
(D) Jhamaal

What is the script used to write ‘Malvi’ language?
(A) Gurumukhi (B) Devanagari

(C) Urdu (D) Roman

(E) Question not attempted

What kind of turban do the Rajasthani men wear on the
occasion of Teej in the month of Shravan? (Choose the most
appropriate option from below)

(A) Madeel (B) Mothda

(C) Lahariya (D) Bandhe;j

(E) Question not attempted

Among the names listed below, which is an article of
jewellery worn by Rajasthani women around the neck?

(A) Timaniyan (B) Karnphool

(C) Nogri (D) Rakhadi

(E) Question not attempted

Among which of the following communities of musicians is
the Morchang (Jew’s harp) particularly popular in western

Rajasthan?
(A) Bhopa (B) Sahariya E
(C) Langa (D) Nat

(E) Question not attempted

The main temple of Veer Tejaji is located in which of the
following places in Rajasthan?

(A) Ranthambore (B) Kushalgarh

(C) Parbatsar (D) Bagore

(E) Question not attempted
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TS % feffgd @ @ frm e 4 W SEi Y
HEICHE-2025 HAET T

(A) HISE AT (B) =&t EE
(OREISICIS (D) reft
(E) ogaid 9

TS § S et & I | feferfaa 8 & 9-ar wue 9

B

(A) € T U T Rl

(B) e figh T, e, Wt A1 e,  foIe 3wgeh et 2

(C) I7 Hfcwem, BRHR™, diem 3R @F deal 9 W 8,
Afeht SHH SIS i <HHT Biell 21

(D) 39 O firgh & A & +ff S St 2

(E) rgafd 9

TSTET T STeTary 1 FfeRad & € H-81 e TTfd Tt
AT 27

(A) FEA

(B) rerisfia feerfq

(C) uaq i famm

(D) TSAH et ST aTeft sferat

(E) gafd 9

TSTET | 2024 H, AT €IS (SE-fada) 3R fore 7e
§ Srafafer ofrod aut 6 ged w ufaerd gt form e

(A) Tadse (B) T
(C) g (D) 3ATEd
(E) 3¥gaiasg

frfafaa & @ SH-a1 I=sia ST, TSE™ & 91 & §
e a2

(A) THETR FIsiia S0

(B) WfEHT I=Isita ST

(C) FATER F=sfa ST

(D) ITE SIS SIS

(E) rgafd 9

T Hrar Geequr foid e & Fefoflea 4 9 forg & o
e @2

(A) =FL (B) AT

(C) Sag (D) TR

(E) rgafid 9

freafaRaa & & -t 3fier sterar, Tereem # fua 22
(A) facfiae (B) Ereamr

(C) A I (D) eh 9T

(E) 3¥gaiasg

frefefaa & & #-ar TsT 7ret 76 S 51 e 1= 22
(A) "IN (B) TSI

(C) YW (D) TSR

(E) 3rgafa 9
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In which of the following regions of Rajasthan was the
Ranakpur Jawai Bandh Festival -2025 celebrated?

(A) Mount Abu (B) Bundi

(C) Jhalawar (D) Pali

(E) Question not attempted

Which of the following statements is correct about alluvial
soil in Rajasthan?

(A)
B)

It is a less fertile soil.

This soil is not suitable for wheat, cotton, mustard and
tobacco.

(C) 1t is rich in Calcium, Phosphorous, Potash and Iron
contents but lacks in Nitrogen.

(D)
(E)

Which of the following factors does not influence the

It is also known as Regur Soil.
Question not attempted

climate of Rajasthan?
(A)
(B)
©)
(D)
(E)

In Rajasthan which month during the monsoon season

Distance from the sea
Latitudinal position

Wind direction

Dialects spoken in the state
Question not attempted

(June-September) in 2024, recorded the lowest percentage
of Long Period Average (LPA) rainfall?

(A) September (B) June

(C) July (D) August

(E) Question not attempted

Which of the following wildlife sanctuaries, is located in
Baran region of Rajasthan?

(A)
B)
©
(D)
(E)

Mansa Mata Conservation Reserve is situated in which of

Ramsagar Wildlife Sanctuary
Sariska Wildlife Sanctuary
Vanvihar Wildlife Sanctuary
Shergarh Wildlife Sanctuary
Question not attempted

[42

the following regions of Rajasthan?

(A) Jhunjhunu (B) Jaipur
(C) Jodhpur (D) Bikaner
(E) Question not attempted

Which of'the following lakes is located in Alwar, Rajasthan?
(A) Siliserh (B) Didwana

(C) Anand Sagar (D) Kanak Sagar

(E) Question not attempted

Which of the following states is not a part of the Mahi river
basin?

(A) Madhya Pradesh

(C) Uttar Pradesh

(E) Question not attempted

(B) Gujarat
(D) Rajasthan
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A 1 SHIUHT (2011) % HATHT, TSTEAH T el SHEEAT
A =l et SIEEAT T T wfaerd off?

(A) 10.11% (B) 5.66%

(©) 7.85% (D) 11.20%

(E) ogaid 9

TSTET ¥ 01 19 R s fohg 9t o 82

(A) 4 (B) it

(C) e (D) wwe

(E) 3¥gaiasg

T o fefafed Sdt § 9rEe (@) & 38 # a9
Fifereh IrET ST § -

(A) I, SR, HAETE, feiteTg
(B) Toueh, ureft, et ST

(C) SHTH, FMEH, AT, T6

(D) HTeHT, G, IaT, AR

(E) rgafid 9

[42

Choose the most appropriate option to transform the
following Negative Sentence to an Affirmative Sentence:
We did not find many students.

(A) No students were found.

(B) We found a few students.

(C) Some of us were found.

(D) Students were hardly ever found.
(E) STafa

Choose the most appropriate option to transform the given
Interrogative Sentence to a Negative Sentence:

Why blame him?

(A) He deserves all the blame.

(B) He is usually the target of the blame.

(C) He should not be blamed.

(D) Should he not be blamed?

(E) rgafd o

Choose the most appropriate option to transform the given
Assertive Sentence to an Exclamatory Sentence:

It is sad to think that he died so young.

(A) Wish he was still here!

(B) Alas! He died so young.

(C) Bravo! He died but young.

(D) Did he really die at such a young age?

(E) gaid 9

Choose the most appropriate option to correct the following
sentence:

He has been to Amrapalli, did he?

(A) should he? (B) hadn’t he?

(C) didn’t he? (D) hasn’t he?

(E) 3rgafa s

108

109

110

111

112

113

114

As per the Census of India (2011), the total population of
Rajasthan was what percentage of the total population of
India?

(A) 10.11%

(C) 7.85%

(E) Question not attempted

(B) 5.66%
(D) 11.20%

Rana Pratap Sagar dam is built on which river in Rajasthan?
(A) Banas (B) Luni
(C) Chambal (D) Mabhi

(E) Question not attempted

Teak trees forest is found the most among the following set
of districts of Rajasthan -

(A)
B)
©
D)
(E)

Udaipur, Dungarpur, Jhalawar, Chittorgarh
Sirohi, Pali, Ajmer, Jaipur

Jaisalmer, Barmer, Jodhpur, Churu

Sikar, Jhunjhunu, Kota, Nagaur

Question not attempted

Choose the most appropriate option to transform the
following Negative Sentence to an Affirmative Sentence:
We did not find many students.

(A)
B)
©
D)
B

Choose the most appropriate option to transform the given

No students were found.

We found a few students.

Some of us were found.

Students were hardly ever found.

Question not attempted

Interrogative Sentence to a Negative Sentence:
‘Why blame him?

(A) He deserves all the blame.

(B) He is usually the target of the blame.

(C) He should not be blamed.

(D) Should he not be blamed?

(E) Question not attempted

Choose the most appropriate option to transform the given
Assertive Sentence to an Exclamatory Sentence:

It is sad to think that he died so young.

(A) Wish he was still here!

(B)
(®)
(D)

(E) ﬁ

Choose the most appropriate option to correct the following

Alas! He died so young.
Bravo! He died but young.
Did he really die at such a young age?

Question not attempted

sentence:

He has been to Amrapalli, did he?

(A) should he? (B) hadn’t he?
(C) didn’t he? (D) hasn’t he?
(E) Question not attempted
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Fill in the blank with the most appropriate word to complete
the given sentence:

[ was with work towards the end of the year.
(A) inundated (B) enundated

(C) enunciated (D) undated

(E) Agafaud
Match List I with List I -
List I List IT
(Sentences) (Articles)
a. Hewon__ Tony I. a
award last year. ﬁ
b. Germanis II. an
difficult language.
c.  Prince Vikramaditya 1. the

is amiable person.

Choose the most appropriate answer from the options given
below:

(A) a-1,b-1ll,c-0I0
(C) a-II,b-MLc-1I

(E) ogafd 9

(B) a-ILb-ILc-1I
(D) a-MLb-T c-1I

Choose the sentence with the correct use of determiners.
(A) Each student brought his book.

(B) They have much apples.

(C) Idon’thave a informations.

(D) There is several money in his account.

(E) SATARAIA

Fill in the blank with the most appropriate preposition:
The court has absolved him the crime.

(A) from B) of

(C) with (D) along

(E) SATaRa 94

Choose the option with the correct use of punctuation(s):

(A) “I am going to the mall” tomorrow, she said.
(B)
©
(D)

The prodigy, is but just two Maya.

Ah! We are ruined.

Please send the following items of furniture: chairs
benches tables and stools.

(E) gafid 9

Choose the most appropriate option to translate the
following sentence from Hindi to English:

(A)
B)
©
(D)
(E)

I am not going to give you a warning.
I am not going to give you any advice.
I am not willing to give you the permission.

I am not going to give you any explanation.

ERRIER]

115

116

117

118

119

120

Fill in the blank with the most appropriate word to complete
the given sentence:

I was
(A) inundated

(C) enunciated

with work towards the end of the year.
(B) enundated

(D) undated

(E) Question not attempted

Match List [ with List IT -
List I List IT
(Sentences) (Articles)
a. Hewon__ Tony I. a
award last year.
b. Germanis II. an
difficult language.
c.  Prince Vikramaditya II. the

is amiable person.

Choose the most appropriate answer from the options given
below:

(A) a-Lb-Ill,c-0IO
(C) a-II,b-MILc-1I

(E) Question not attempted

(B) a-TLb-I,c-1
(D) a-MLb-T,c-TI

Choose the sentence with the correct use of determiners.
(A) Each student brought his book.

(B) They have much apples.

(C) Idon’t have a informations.

(D) There is several money in his account.

(E) Question not attempted

Fill in the blank with the most appropriate preposition:
The court has absolved him
(A) from

(C) with

(E) Question not attempted

the crime.
(B) of
(D) along

Choose the option with the correct use of punctuation(s):
(A) “I am going to the mall” tomorrow, she said.

(B)
©
(D)

The prodigy, is but just two Maya.
Ah! We are ruined.

Please send the following items of furniture: chairs
© [

Choose the most appropriate option to translate the

benches tables and stools.

Question not attempted

following sentence from Hindi to English:
(A)
B)
©
(D)
(E)

I am not going to give you a warning.

I am not going to give you any advice.

I am not willing to give you the permission.
I am not going to give you any explanation.

Question not attempted
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